wanting to dive,

making them five.
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ig% Addition

One more

One little parrot,
singing | love you,

One more joins in,

making them two.

Two little parrots, 8
resting on a tree,
One more joins in,

making them three.
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Three little parrots, "«Q‘
looking for more,
L )
One more joins in,
making them four. _-t'?::
Four little parrots,
‘\ll,
One more joins in, e
(A~
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=0
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How many altogether ?
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2 lcows and 1 cow is equal to | 3 |cows

3 children and

@@P
“5

Flowers

Birds and




How many altogether?

6 and

and

and

and




How many altogether?
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@3 Addition

+ 3

4+ 2 =
5+ 1=
3 +6 =
7+ 0=
0+9 =

sl
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‘i@ Addition

3 | balloons

5+ 0

3+ 4 =




Addition
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@3 Add and Match
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